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B.:1) - All questions are compulsory but subject to internal choice. OZY
2) Figures to the right indicate full marks. ' A -
3)  Use of simple calculator is allowed. @\\
o
Q1 Attempt any two .(335)
: A) What is Wealth Management? Explain the need of Wealth \bQQ
] . Management. -
B) What are financial goals? Explain the steps in financial plgnnmg
process. &
C) Define yield curve and explain the types of yield cuxg}y
o
Q2 Attempt any two | :;}@ (15)
‘ A) Explain the functions of insurance . ) \
B) Explain i in detail the types of life 1nsurancc\pollcles
C) Explain the advantages of active 1nvestrg§f1t strategies.
| o
Q3 Attempt any two X 15)
A) Mr. Nayak commenced business on 01“@pril 2015. The balance sheet as
on 31% March 2016 is as follows:- 53‘
Balance sheet assn 31* March 2016
Liabilities Amount(lgs\’ié)fv Assets Amount(Rs.)
| Equity share of Rs. 4,060,000 | Fixed Assets 8,00,000
U _
10 each ' By B
General reserves ,23' " 80,000 | Stock in trade 2,20,000
Profit and Loss A/c c;f 8,000 | Debtors 2,20,000
Mortgage Loan x;:\'} 3,20,000 | Cash and Bank 20,000
\f? balance - -' &
CErpe——— x~ 92,000 X
Creditors X 3,60,000 ’
= 12,60,000 12,60,000
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B) On December 10™ 2015, Mr. Pande sold gold for Rs. 4, 12,000 (cost of (,\_Z\YW
acquisition on February 20, 1994 Rs. 1,04,000). Expenses on purchase and é\f’j
transfer are Rs. 1,100 and 2,000 respectively. Find out the amount of capita}}céf’
gains, if any for the assessment year 201 6-17. ' (%}*}
(Indexed values for the financial year 2014-15 Rs.1024, 2015-16 Rs.b&\f?l,

' 24

1993-94 Rs.244) N

+C) Write a short note on Net Worth. )
Ny
Q4 Attempt any two 5 (15)
A) Mr. Sanjay aged 45 years furnished the following infgggiation:

Income from Capital Gains Rs. 2,00,000 x o7
Income from textile business Rs. 3,45,000 rch@
LIC premium self Rs. 35,000 p.a. (Sum asspiréd Rs.1,50,000)
Mediclaim premium of self policy Rs. }85500
PF Contribution Rs.5,000 iy
Compute the net taxable income anfg’-:{e'\x liability for AY 2016-17

B) Write a short note on the life cycleip}gnﬂing

C) What are the factors affecting W\%;?ﬁtil creation?

S ‘

Q.5 Mr. Prakash is a chief executiv?f;éfa Multinational Wealth (15)
Management consultancy firm and\ﬁﬁo head of Marketing and Clients’ support
Department. A prospective inve@@i‘ with net surplus of Rs.10 crores visits his
officg for seeking his advice al@\ engaging his servicgs for investing the surplus.
What plans Mr. Prakash ca@%ggest to this client assuming that:

o a0l OB

a. The client i§§§§enior citizen and retired from private sector
employment.
b. The clie\ﬁit'is a middle aged housewife and alsoworking on part
time basis for NGO.
& Theclient is a middle aged Central Government Employee.
Please suggq\\g?f?’the plans separately for all these types of investors.
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